HA1l.1

Workout 5x4-2x5

10

Work out 40-9x4

4

Question 1 Question 2 Question 3 Question 4
Express 3080 as a product of Express 81 as a product of prime  |[Find the nth term of Find the 50th term of
prime factors factors 4,11, 18, 25,... 8,10,12, 14,...
3 4
2 RN K1l 3 /n-3 106
Question 5 Question 6 Question 7 Question 8

Work out 7.1x5.6=

39.76

Work out 14972 +38 =

394

Question 9
Work out 15.6x2.2 =

34.32

Question 10
Work out 9945+ 39 =

255

Question 11
Workout 2 1/4 + 2/3 =

3 3/8

Question 12
Workout12/3+01/2=

3 1/3

Question 13
Increase £1340 by 10%

£1474

Question 14
Decrease £5480 by 10%

£4932

Question 15
Expand and simplify
5(2x - 5) - 5(3x - 2)

%~ 15

Question 16
Expand and simplify
2x(2x +3) + 2x(3x + 5)

10x% + 16X

Question 17
Solve 8x+2=4x-14

X=-4

Question 18
Solve 3(9x + 5) =-66

X=-3

Question 19
Work out the value of 5x-9 when
x=4

11

Question 20
Work out the value of 30+ 5b

when b - 4
50
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Question 1
Express 720 as a product of prime
factors

2% 3%x5

Question 2
Express 35 as a product of prime
factors

5.5 7

Question 3
Find the nth term of
5. 16,27, 3%

11n-6

Question 4
Find the 50th term of
715 935 3

399

Question 5

Work out  9x(5+4)

81

Question 6

Workout 9+12x4

27

Question 7
Work out 16.5x8.6=

141.9

Question 8

Work out 12818+ 29=

442

Question 9
Work out 4.7x8.1=

38.07

Question 10
Work out 4928 = 32 =

154

Question 11
Workout 2 7/9-1/3 =

2 4/9

Question 12
Work out31/4-22/5=

17/20

Question 13
Increase £340 by 5%

£357

Question 14
Decrease £5480 by 10%

£4932

Question 15
Expand and simplify
3(3x-4)-3(2x-3)

3x-3

Question 16
Expand and simplify
5x(3x + 5) + 2x(5x - 3)

25x% + 19x

Question 17
Solve 4x - 4 = 2x

Question 18
Solve 5(2x + 4) = 60

Question 19
Work out the value of 6x-4
when x =2

Question 20
Work out the value of 27 - 2x°

whenx =2
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Question 1
Express 220 as a product of prime
factors

2°x5x11

Question 2
Express 55 as a product of prime
factors

5x11

Question 3
Find the nth term of
6, 10, 14, 18,...

4n + 2

Question 4
Find the 50th term of
14, 24, 34, 44,...

504

Question 5

Work out 12 x (8 + 4p2)

288

Question 6

Work out  47-2x4

39

Question 7
Work out 3.1x3.1=

9:61

Question 8
Work out 5487 +31=

177

Question 9

Work out 12 x4.4=

52.8

Question 10

Work out 17950+ 50=

359

Question 11
Work out 31/5x1/2 =

1 3/5

Question 12
Work out 24/5- 1/2 =

2 3/10

Question 13
Increase £400 by 10%

£440

Question 14
Decrease £500 by 20%

£400

Question 15
Expand and simplify
2(2x+3) +5(2x + 4)

14x + 26

Question 16
Expand and simplify
Ax(2x + 4) + 3x(4x - 3)

20x° + 7X

Question 17
Solve 5x-3=4x+1

Question 18
Solve 4(8x -3)=-76

Question 19
Work out the value of 27 - 4c
when c=-5

47

Question 20
Work out the value of 20 - 3a

whena=4
a I




HAl1.4

Increase £340 by 5%

£357

Decrease £7200 by 5%

£6840

Question 1 Question 2 Question 3 Question 4

Express 154 as a product of prime [Express 105 as a product of prime [Find the nth term of Find the 50th term of

factors factors 14, 25, 36, 47,... 16, 27, 38, 49,...
2x/7x11 3N SN/ 1In+3 DD

Question 5 Question 6 Question 7 Question 8

Work out 3+ 11x3° Work out 34-7x4 Work out 19.2x6.8 = Work out 2574+ 66 =

Question 9 Question 10 Question 11 Question 12

Work out 2.9x7.9= Work out 1408 = 44 = Workout11/3x11/2= Workout11/4+21/2=

Question 13 Question 14 Question 15 Question 16

Expand and simplify
5(2x +5) + 4(4x - 5)

26X+ 5

Expand and simplify
3(2x - 3) - 3(5x - 4)

-Ox+ 3

Question 17
Solve 7x -4 =>5x-10

Question 18
Solve 5(8x - 2) =-130

X=-3

Question 19
Work out the value of 4c+ 8§
whenc=2

16

Question 20
Work out the value of 21 - 3y

when y=0.5
19.5
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HA1.5

Increase £1260 by 10%

£1386

Decrease £7720 by 20%

£6176

Expand and simplify
5(2x + 5) + 4(5x - 2)

30x + 17

Question 1 Question 2 Question 3 Question 4
Express 288 as a product of prime [Express 60 as a product of prime  |Find the nth term of Find the 50th term of
factors factors 4,14, 24, 34,... 4,10, 16, 22,...
5 2 2

2"%3 2RI NS 10n-6 298
Question 5 Question 6 Question 7 Question 8
Workout 8x(2+5) Workout 11x5-2x%6 Work out 14.8x4.7 = Work out 18424 + 56 =
Question 9 Question 10 Question 11 Question 12
Work out 13.9x4.3= Work out 25193 +61= Workout12/3+21/2= Work out21/5+ 1/3 =
Question 13 Question 14 Question 15 Question 16

Expand and simplify
A(5x - 4) - 4(2x - 3)

12x -4

Question 17
Solve 6x -2 =5x

Question 18
Solve 5(4x +5) =15

Question 19
Work out the value of 4a-2
whena=-3

14

Question 20
Work out the value of 21-3a°

whena=2
. [




HA1.6

Question 1
Express 231 as a product of prime
factors

IaxIxil

Question 2
Express 864 as a product of prime
factors

2° x 33

Question 3
Find the nth term of
14, 26, 38, 50,...

12n# 2

Question 4
Find the 50th term of 14, 24, 34,
a4, ...

504

fa.21

47

5 4/9

Question 5 Question 6 Question 7 Question 8

Workout 9x7-4x6 Work out 12x5+5x3 Work out 15.4x7.5= Work out 22814 +61=
Question 9 Question 10 Question 11 Question 12

Work out 10.9x6.9= Work out 2444 +52 = Workout31/9+21/3= Work out 35/6x2/3 =

2 5/9

Question 13
Increase £2720 by 10%

£2992

Question 14
Decrease £560 by 5%

£332

Question 15
Expand and simplify
4(3x + 4) + 5(5x - 4)

37x-4

Question 16
Expand and simplify
3(3x+4) +3(4x - 3)

21x+ 3

Question 17
Solve 8x+1=3x-14

Question 18
Solve 3(6x +3) =-9

Question 19
Work out the value of 43 +3
when a=0.5

Question 20
Work out the value of 24 -3b

when b =2
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Question 1
Express 168 as a product of prime
factors

22%x3%7

Question 2
Express 84 as a product of prime
factors

2°%x3x7

Question 3
Find the nth term of
15, 26, 37, 48,...

11n+4

Question 4
Find the 50th term of
2,6,10,14,...

198

Question 5

Workout 5x8+2x3

46

Question b

Workout 5x11-4x5

33

Question 7
Work out 11.7x5.1=

59.67

Question 8

Work out 7800+ 25 =

312

Question 9

Workout 9.3x7.7=

71.61

Question 10
Work out 25488 +59=

432

Question 11
Workout31/9-02/5=

2 32/45

Question 12
Workout11/6+22/3=

3 5/6

Question 13
Increase £2920 by 10%

£3212

Question 14
Decrease £5480 by 10%

£4932

Question 15
Expand and simplify 2(2x + 3) +
2(4x-2)

12x +2

Question 16
Expand and simplify 3x(2x + 3) +
Ax(2x + 4)

14x% + 25X

Question 17
Solve5x+2=3x+6

Question 18
Solve 3(3x + 4) =66

Question 19
Work out the value of 25-4a
whena=-5

45

Question 20
Work out the value of 10-y when
y=2

8













